JCT

km
"""""""""""""""" 436
IC JcT
"""" 1 |, R
] »|
16.8 3.0 49 2.2
(km)
le N
L=26.9km
H5 | H6 () H2 10
_ L H6 () H12
963 : 938
984 958 o7
3,000 / 2,300 / 27
13 13 :
26.8 - 77.5 ki 34.4 - 215 |
( =) 7 ( . ) ! 9 16
__________________________ 1,186 1,957
1,706
1.7 “1)32 182
69
________________________________ H17




60 32 28
[ _J
2
71 (H11) - 58 (H17) 13
[ _J
IC
IC 14 35%
NO, 98 0.038 0.041ppm 0.04 0.06ppm
Co 2 1.608 1.625ppm 10ppm
16
48dB 65dB
_______________________________________________________________________ "
5 16 3




